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Instructions : (1) Figures to the right indicate full marks.
(2) Write to the point.

(3) Show your working clearly.

1. (A) Explain any one of the following :
(1) “Scattergraph Method’ of cost estimation.
(2) ‘Regression Analysis Method’ of cost estimation.

(B) Explain any one of the following :
(1) ‘Simplex Method’ of Linear programming.
(2) Effect of constraints in Linear programming.
OR

1. The following data of Stuti Co. Ltd. are extracted from cost accounts :

Month Machine Maintenqnce Cost
Hours (in '00) (Rs.) (in '00)

2003

April 9 150
May 15 195
June 4 90
July 12 195
August 18 210
September 9 135
October 12 180
November 6 135
December 20 270
2004

January 15 225
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(A) Find out variable cost and fixed cost by High and Low points method for the
month of January, 2004.

(B) (1) Use the least squares technique to separate the fixed and variable costs.

(2) Compute the coefficient of correlation and coefficient of determination and
interpret them.

(C) Which of the above methods would you recommend for cost estimation ?

2. (A) Write short notes on : (10)

(1) Interdependence between variances.

(2) Controllability of variances.

(B) (1) Explainin short the ‘Single Plan’ system of recording variances. (10)

(2) Explain the following terms :
Planning and Operating variances.

OR
2. Following information is obtained from the cost department of Astha Ltd. : (20)
Standard Cost Card (Per unit)
Rs.

Material cost (2 kg. at Rs. 10 per kg.) 20
Direct Wages (Direct hours — 2, at Rs. 2 per hr.) 4
Variable overheads (Hours - 2, at Rs. 2 per hr.) 4
Fixed overheads (Hours - 2, at Rs. 4 per hr.) 8
[Normal production capacity : 10,000 units]

Total standard Cost 36

Standard profit per unit 4

Standard selling price per unit 40

MCX-03 8



Budgeted production & sales : 10,000 units.

Actual data : Rs.
Material consumed : 16,500 kg. at Rs. 9.60 1,58,400
per Kkg.

Wages : 18,000 hours at Rs. 1.60 per hr. 28,800
Variable overheads 32,400
Fixed overheads 76,000
Actual production & sales (Rs. 42 per unit) 3,36,000

You are required to compute different variances and reconcile the budgeted profit
with actual profit.

3. Answer any two of the following : (20)
(1) Write short notes on : Variable cost pricing.
(2) State the factors affecting pricing policies.
(3) Explain in brief :
(1) To make the parts or to purchase decision.
(if) To take on lease or to buy decision.
OR

3. Mr. Sodhi is the owner of ‘Azad Petrol Pump Station’. He gives you the following
information : (20)

(A) Purchase price per litre of petrol : Rs. 30. (Including taxes and delivery charges)
(B) Sales price of petrol per litre as fixed by the Government : Rs. 33.

(C) Monthly fixed expenses : Rs.
Electricity (for 24 hours operation) : 7,500
Rent : 30,000
Salary of 3 supervisors : 9,000
Wages of 3 Mechanics : 4,500
Wages of 6 pump operators : 6,000
Other fixed costs (excluding depreciation) : 24,000

Total : 81,000
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Calculate :

(1) How many litres of petrol should be sold every month to Break-even in the

()

3)

4.
@)
()
©)
MCX-03

following circumstances :
(i)  On the basis of the above costs.
(if)  If the rent is doubled.

(iii) If the services of one mechanic and two pump operators are terminated
and then salary & wages are increased by 20%.

(iv) If he pays his supervisors commission at the rate of 25 paise per litre
instead of monthly salary of Rs. 3000.

(v) If the cost of purchase rises to Rs. 40 per litre and if the sales price rises
to Rs. 50 per litre.

On the basis of the existing sales and cost structure, what should be the
monthly sales (in quantity and value) to earn an annual net profit at the rate of
20% on investment of Rs. 15,00,000 in fixed assets. Assume a tax rate
of 60%.

If Mr. Sodhi decides to operate the petrol pump for only 16 hours a day
instead of 24 hours as at present, he will have to spend Rs. 10,000 every
month on publicity to sale the same quantity of petrol. In this event, his
monthly expenditure on electricity and salary-wages will be reduced pro-rata
and other fixed costs will be reduced by Rs. 6,000 per month.

Would it be more advantageous for Mr. Sodhi to operate the petrol pump only
16 hours a day ? Advise him.

Answer any two of the following :

State the essentials of an effective responsibility accounting.
How would you carry out Strategic Cost Analysis ?

What is competitive bench-marketing ? Explain the process of bench-
marketing.

10

(20)



5. Answer any two of the following :

(1)

)

MCX-03

Swapna Ltd. has received a proposal for the supply of 5000 ‘Swapna Chairs’.
Capacity exists for the production of Swapna Chairs on company’s unit No.1.
But a fixed investment of Rs. 15,00,000 and working capital to the extent of
20% of sale value will be required if the proposal is accepted.

The cost estimation is as under :

(A) Raw materials : 50,000 kgs. at Rs. 25 per Kkg.
Direct labour : 5,000 hours at Rs. 12 per hr.

(B) Other indirect expenses :

Variable Fixed
Factory Rs. 20 per labour hour. | Rs. 75,000
Selling-distribution Rs. 80,000 Rs. 50,000

Determine the price of ‘Swapna Chair’ under the following
circumstances :

(i) Conversion cost method, considering 150% profit on
conversion cost.

(i) Return on investment method, considering 20% return on capital
employed is expected.

Mansi Ltd. is manufacturing 15,000 units at 75% capacity utilisation. Advise
whether it should increase capacity utilisation to 100% by analysing the

following information :

75% 100%
Sales Rs. 18,00,000 Rs. 21,50,000
Fixed, semi-variable and variable costs. Rs. 5,80,500 Rs. 6,03,000

(Including Rs. 2,50,500 fixed costs)

Unit cost of material and labour is fixed. At present, profit margin on sales is
15%. Determine the minimum selling price for export promotion by additional
output.

(20)
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(3 (i) Whatis ‘Sunk Cost’ ?

MCX-03

(i) Slok Co. Ltd. is considering whether to launch a new product in the
market or not.

The sales price of this product is Rs. 350 and estimated sales volume is 1500
units per annum. The incremental fixed costs would be Rs. 27,500. The only
variable costs are materials. Slok Ltd. currently buys 12,500 kgs. of material
each year at a price of Rs. 105 per kg. The new product would use 5 kgs. of
the material per unit, and if annual purchases are raised to 20,000 kgs. the
material supplier has promised a 15% discount on all quantities purchased.

Determine the external opportunity costs of launching a new product.
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